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QUESTION 1

In the following graphic, the administrator created an additional paging space using smit mkps. The paging space is not
active. What is necessary to start using the new paging space?

Add Another Paging Space

Type or select values in entry fields.
Press Enter AFTER making all desired changes.

[Entry Fields]

§0241

PHYSICAL YOLUME name

start using this paging space NOW? no

Use this paging space sach time the system is (g1
RESTARTED?

Checksum size []

A. Use swapon to activate the new paging space.

B. Reboot the server to activate the new paging space.

C. Vary on the pgvg volume group prior to creating the new paging space.

D. Use chps with the -a y flag to activate the new paging space for immediate use.

Correct Answer: A

QUESTION 2

What should be considered when creating a file system with a small fragment size of 512 bytes?
A. The maximum size of a file is reduced.

B. The total number of inodes is decreased.

C. The maximum file system size limit is reduced.

D. The disk I/O operations will increase.

Correct Answer: A

QUESTION 3
With regard to GLVM mirroring, which of the following is a true statement?
A. Mirrored locations are limited to being 254 miles apart

B. Data mirroring is performed over standard TCP/IP networks
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C. GLVM requires any hosted database applications to be mirror-tolerant.
D. Production and backup sites must use the exact same model of IBM Power System server

Correct Answer: A

QUESTION 4

An administrator is attempting to recover the sendmail.cf file from the weekly mksysb backup. The following
outputconfirms that the file does exist within the mksysb backup:

Cluster 51200 bytes (180 blocks)
Volume number 1
Date of backup: Wed 20 Mar 21:17:26 2013
acked up by name

1.1.1%/inst_root/etc/mails/sendmail. cT
‘sendmail. cT

fmailserwver.mc
ipSsendmail/ct/submit. mo
e
o
N
cf. 1355401616
Hnﬁmdll &F
onfigsetc/mails/sendmrail. cf
ndmail. cf

files archived:
Why would the following smitty panel fail to find and restore the required file?

Restore a File or Directory

Type or select values in entry Tields.
Press Enter AFTER making all desired changes,

[Entry Fields]
* Restore DEVICE
* Target DIRECTORY

FILE or DIRECTORY to restore

(Leave blank to restore entire archive. )

Numher of RINOCKS o read in a single dnput
operation

Restore extended attributes?

A. The target directory must match the source directory

B. /etc/mail/sendmail.cf is a symbolic link to /etc/sendmail.cf
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C. Extended attributes should not be restored for a symbolic link
D. The file to restore must be correctly delimited relative to the backup

Correct Answer: D

QUESTION 5

What is the most likely cause of the following error when configuring a system?

root@dbZprod:/ # cfgmgr
Method error {/usr/lib/methods/cfgefscsi -1 fscsil }:
0514-061 cannot find a child device.

root@db2prod:/ # lsdev -Cc adapter

ent0 Lvailable Virtual I/0 Ethernet Adapter (l1-lan)
entl Lvailable Virtual I/0 Ethernet Rdapter (l1-lan)
fcs0 Available 00-00 8GB PCI Express Dual Port FC Rdapter (dfl1000£114108a03)
fcesl Available 00-01 8Gb PCI Express Dual Port FC Adapter (dfl000£114108a03)

A. The auto-negotiation setting is disabled.

B. The HBA port at fcs1 is not cabled.

C. The RECOVERY policy on fscsil has been set to disabled.
D. The SDD multipath software has not been installed.

Correct Answer: A
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